o,

a+3ab+b

a—-ab+b

o ghe?



2. A = (24a*h® - 12a°b*)+(-2a°b)?, B = (8ab* — 4a*b*)+(—ab)? &
o, A - (B +3C) = ab® + 1& W=t 4 €& F519H?

O C=b-2ab%-1 @ C=0b%-4ab? -2
@ C=20%-ab®-1 @ C =203 —4ab® + 1

® C=b*-ab®>-4



A=x2-2x+5 B=2x>+x-3 € 1, 5A - (2A + B) & x of| &3t
Aoz ehm?

@ 2x2-5x+8 @ -3x2-Tx-5
® x2+6x+9 @ -x?410x-22

® x2-7x+18



a=2b 4, b2 5toiet
3a2+2b2+a+b
ab a—-b
® -5 @ 0 ® 5 @ 4 ® 10




5.

(x+y): (x+2y)=2:1< of,

© @ 0 ®

N =

x4+ 3y
xX+y

N | Ot

9
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@

Wl

Wl wt
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6. 3a-2p=2a+b% ‘ﬂi,;;—_biﬂ a7

1
@—? @—§ @0 @ 1 ® 13



